Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C300015 Date: 01 -01 -2016
Subject Name: Fundamental of Mechanical Engineering
Time: 10:30 AM TO 12:00 PM Total Marks: 70

Instructions:

1.

g~ W

No.

Attempt all questions.

Make suitable assumption wherever necessary.

Each question is of 1 mark.

Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)

English version is authentic.

Question Text and Option. Y8l el (Ascl.
A coupling is used to connect two shafts whose axis intersect.

A. Universal coupling B.  Oldham’s coupling
C. Bush pin flange coupling D. Clamp coupling
suldol ¥ @ Adedlulalniausza lsal Hie duRld &

A yYRaiasu@ol B. 2les st sul@ol
C. gadlet etsu sAxsulcol D. sqwusuldoat
Which of the following element is used to connect two shafts

A. Clutch B. Brake

C. Coupling D. Allofthis
o{lAMl AuseaslsaHzsARANR AGUAUUD?

A s B. Qs

C. suclal D. 2w e3s

In automobile, Which of the following coupling is used to connect engine shaft to
driven shaft

A.  Muff coupling B.  Bush pin type flange coupling

C. Oldham’s coupling D.  Universal coupling

HUSAH HL ol Actl Hil 58 sACOL Mool ULS2S Al glelol ULSS o
oflscll HIe duRld 8 2
A ug suldoat B. oo Ulot 21w s@lor suldot

C. e s suldot D yRcxiad suldat

A clutch is used for the transmission of power in agriculture equipments like
tractor,thresseretc,

A. Centrifugal clutch B. Jaw clutch

C.  Multi-disc clutch D. Cone clutch

Wcllatsl ol ULl Bl ¥ 2522, QAR Hl WalR 2ledHlAotH2 520 scU
AuRA B?

A Aol seU B. o setu

C. el Slks se D. ot sctu
Which of the following is a positive drive?

A.  Flat belt drive B. V- beltdrive
C. Wirerope drive D. Chaindrive
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10.

0.

11.

Q.

12.

(A1l sUDBR aglssad ?

A sQedceglsd B fladce sloa

C arAugsd D Qaigisa

Following gears used to connect two non-parallel, non-intersecting shafts
A.  Spur gear B. Bevel gear

C. Spiral gear D. Rack and pinion

LA HIYU 520 PlAR A WUHIeARUA(AA DES ALFE A WSl HIS AURAA
8?

A uR Bl B, ofladt Bl

C g Bl D. %5 wa YRt
A brake commonly used in motor car is

A.  Shoe brake B. Band brake

C. Internal expanding brake D.  None of this
Hlesk Hi A A aurldl ds

A 9 Qs B, Qos as

C. wdRs @Qazel s D wdsls ual «(3
Arivet is specified by

A.  Shank diameter B.  Length of rivet

C. Type of head D. Length of tail
el o 58 A aa 82

A Qos stauHle? B.  dlae «ll cous

C. 3s el ysi2 D. 3ct ol cdous
Hot working is carried out recrystallization temperature
A. Below B. Equal to

C. Above D. Allof these

ale al$at Yot:s1&ls0l ctumteiedl AlUHIA sl A B
Aol B au

C. Gu? D wle e¥s

Which one of the following is a remedy to avoid accidents?

A.  Wear safety shoes B.  Wear proper clothes
C. Knowledge of safety rules D. Allof these

(1A Helsjls wsldRAaRaHGuUA(B?

A A o udRal B cadfdd sust ugreal
C dadl ot Qanogstet D wdd e¥s

Which one of the following cause of an accident?
A. Poor ventilation and lightening B.  Faulty machine

C. Faulty electric wiring D. All of these
o(lA W lsYAs WsIHIAUA HIZo] SIRQID?
A uRIK sdll A Gostal Byl augg Hallet

Co vl aug sAGEsd cwsol D et e3s

Which of the following both the ends threaded?
A. Screw B. Stud
C.  Screw driver D. Bolt
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13.

3.

14.

Y.

15.

Q.

16.

6.

17.

9.

18.

.

19.

L ActHil sl ol B wiel slal B?

A. % B.
C. 3 slfar D.
Which of the following is temporary fastener?
A. Soldering B.
C.  Nut-bolt D.

oAl 53 sourll siaL B2

A Aesdlol

C o2 de D.
Copper sheets are manufactured by

A. Drawing B.
C.  Extruding D.

sluR A2 of Geulest 58 3l aula B?

A. Q%'SOL

The main constituent of moulding sand is
A. Clay B.
C. Alumina D.

LGSl Aos ol Yuud ues sl 8?2
A ydl

C. AxyMat

Metal patterns are used for

A.  Small casting B.
C. Precise casting D.
tlldg oll Uaol Al M2 duRAA B?

A sllell sI@L B.
C. AQswe awo D.

Seam Welding is a
A.  Continuous spot welding process B.

RS
e

Brazing
welding

Aot
acslat

Rolling
Hammering

AAoL
duloL

Silica
Iron oxide

RAst
MUEE MR

Large casting
Large scale production of casting

el siEal
o2l luGeullt d

Multi spot welding process
joining roundbarsprocess

HEl Wle Acslol YA
RAGeS Gl1R Ascllell YRAU

MIG welding
Submerged arc welding

Hlot Aeslot
Aol 1S s Acslol

At the inner cone
At the torch tip

C.  Arc welding process D.
Alu Acslat A
A sl e Acslol YAn B
C. af acslor WA D.
Which of the following welding process uses non consumable electrodes?
A. TIG welding B.
C. Manual Arc welding D.
ol Al 58 Acsol YRAY Ui ollot $RJAGUA B8ASRS AU B?
A ot Aeslol B.
C. Apuct wb Al D.
The maximum flame temperature occurs
A. Atthe outer cone B.
C.  Between the outer and inner D.
cone
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20.

0.

21.

9.

22.

2R.

23.

3.

24,

RY¥.

25.

QY.

26.

sl of HEAH AlUHLet
A wslRell eldl B igr ol aud

C.o g wa walR ol et A P 21l ofl dlu wd
The chamfering is an essential operation after

A.  Knurling B.  Rough turning

C. Boring D. Thread Cutting

133t 565 ylsau ugdl ¢33l B2

A ool B. 25 2ollol

C. aRal D. s s@at

In shaper, the metal is removed during

A. Forward stroke B.  Return stroke

C. Both the forward and return D.  None of this
strokes

AuR Hi Red gM2Alet £ saUHL WA B

A QRa8Rls B. Jeol s

C. Qrad ua Aedd RAs D. Q¢ ual o3

The size of a shaper is given by

A.  Stroke length B.  Motor power

C. Mass of machine D. Ratesize

AUR ol 58 I otssl scuul wA B?

A Rls doud B qewar

C. yollet of €1 D Y2 wesn

The grinding operation is a

A.  Shaping Operation B.  Forming operation

C.  Surface finishing operation D.  Dressing operation

Sl ylsal A

A alal yBau B. Q6o uBau

C uBa flollallol ylau D 3Ryl

Gears can be best produced on mass production by

A. Shaping B.  Casting

C. Forming D. Hobbing

or22loltl PlAR tlollacllHz Gt Ylsal

A alal B sl

C. Q[fbl D. alollat

Gear finishing operation is called

A. Shaping B. Milling

C. Hobbing D.  Burnishing

PR glollallor ulsal o 9f 53 &?

A adlal B aflellal

C adlat D oie{lelal

A closed vessel made of steel and use for the generation of steam is called a

A.  Steam boiler B.  Steam turbine

C.  Steam condenser D. Steam injector
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RS.

27.

0.

28.

RC.

29.

RC.

30.

30.

31.

34.

32.

3R.

AWSC{UANSIR WA 5 R R oll GAUlES HIZ AURA B

A B AR B. 2 et

C. ¥l sde? D @lugaBse
Which of the following is a fire tube boiler?

A. Lancashire B.  Babcock and Wilcox
C. Yarrow D. None of this
o(lAstHiell 520 152 SYu ASAR B?

A dslauaR B- Quisls ualclctslat
C. a3l D. Q¢ ual o3

Which of the following is a water tube boiler?

A. Lancashire B.  Babcock and Wilcox
C. Locomotive D. Cochran

(LAt il 59 AeReyu clEeAD?

A dslauaR B- Quigls uadlasle
C.Asa D. Qe

Which of the following is not a boiler mounting?

A. Blow off cock B.  Feed check valve

C. Economiser D. Fusible plug
o(lAstHill 57 B HIGEloL otell?

A ol s 8ls B- 4ls As aca

SO K CA LTS RTE: D sRoctwaal

The fittings mounted on the boiler for its proper and safe functioning is a
A.  Water level indicator B.  Pressure gauge

C. Safety valve D. Allofthis

AL AAHAL Wl 5121 M2 ASAR Uil sAHIBELIL $le sl WA B?
A dler Add Sedl3eR B QR A

C. Asd aleal D wlde ot

An air preheater

A. Increase evaporative capacity the B. Increase the efficiency of the boiler
boiler

C. Enables low grade fuel to be D. Allofthis
brunt

AR [WéleR A

A dQSER Hi stsdletctot B, 8et? oll sl atidl aural
adutal

C.olal ogiadt atg st P et st
oloal Hie

The ratio of break power to the indicated power is known as

A. Mechanical efficiency B.  Overall efficiency

C. Indicated thermal efficiency D. break thermal efficiency

Qs UlaR Aol FoslEe U dRAsll JJRNdR 9 5& 8?7

A 3ellsestalatHdl B Qcallestamdl

C. o8132s aastlamd D. gsaiasidamd

5/11



33.

33.

34.

3%.

35.

34.

36.

36.

37.

39.

38.

3¢.

39.

3¢.

The action of steam in a steam turbine is

A. Static B. Dynamic

C. Static and dynamic D.  Neither static nor dynamic
¥ 2ollgfat ofl vieR BV ol kAl

A RRs B siaeulls

C. RRs wa slauls D. Q¢ ual o3
Steam turbine may be classified according to

A. Direction of steam flow B.  Number of stage
C.  Mode of steam action D. All of these
WU 2ot of o520 oll WUR scUML WA &

A @ sA ol Rau B. o ofl uval
C. ¥l @REA D wddew
Which of the following pump is not positive displacement pumps
A.  Piston pump B.  Gear pump

C.  Propeller pump D. Bucket pump
o(lAsmiell s v WRE A Brauiee otell?

A leet yu B- Blawz qu

C. Qe uu D wde u
Which of the following is not component of centrifugal pump
A. Impeller B. Piston

C. Casing D. Foot valve
o{lAetHill 52 AcglgolAUU oll @ldl olefl?

A R B et

C. %l D g2 alca

A pump is suitable for pumping viscous fluids like vegetable oil, lubricating
oil,grease,tar etc.

A. Rotary pump B.  Centrifugal pump

C. Reciprocating pump D.  None of these

Raou yalgl Ball 3 Awud AT, quell3lol WS, A, 2(AAR ait wrlo
He sA YU A0 B7?

A edldu B Al soletiu

SO S (INEZ TRV D 8¢ ugl ol

Priming is necessary in

A. Centrifugal pump B.  Vapour compression system
C.  4-stroke diesel engine D. Babcock Wilcox boiler
yleslor AuL %33 8?2

A Aedlsyoletin B-Qur siduet llrent

C. ¥-Rs d3c Royot D.  Qofls Qedlsit ASAR
Petrol engine is

A. Compression ignition engine B.  Spark ignition engine

C.  Mixed ignition engine D. Allof these

W2l Aot A

A s1lret 8oellalel Wopat B 2w sooflatet Aot
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40.

¥0.

41.

¥9.

42.

¥R.

43.

¥3.

44,

Y.

45.

¥,

46.

¥G.

C. Rsu soellatet Aot D. e o
Which one is link between piston and crank?

A.  Connecting rod B.  Piston pin
C. Pushrod D. Crankrod
Yleal A 308 A W5l 531 56 B?

A gasglal As B. Yleet lot
C. ya3As D. 35 3As

In a two stroke cycle engine, one cycle is completed in the following number of
revolutions

A 2 B. 3

C. 1 D. 4

2 RS cloll Aol Hi AsURASAH 32Cl Ildley2et Hi Y3 Al B?
A o B. 3

The mechanical efficiency of following engine is more

A.  Four stroke B.  Two stroke

C. Steam engine D. Gasengine

(LAt sl Aeotoll Hdollsact sllatidl ay 872

C. L Aepat D. 3 Aot

During suction stroke in a diesel engine, it draws in

A. Mixture of diesel and air B.  Mixture of petrol and air
C.  Vapour of diesel only D. Onlyair

Slpct Weot UL ASAet RS €12l 2 WAL B?

A ot wA sall of BBl B. Qe ua sall of Mzl
C. gsadloct ol drln D. g5 sall

The power produced inside the cylinder of an 1.C.engine is known as

A. Indicated power B.  Brake power

C.  Friction power D. All of these

U A Aootl Alcllosell i Geuol Udl WaRA SscllHl WA B?
A Sedl3es R B. Qs war

C. fsaet wear D e vt

Travel of piston from one dead centre to other dead centre is termed as

A.  Stroke length B.  Swept volume

C. Clearance volume D. Compression ratio

A53S Aoz Ul ol 35 Aoz Yloll Ulkeet oll oUld o )
A Rls dule B. e dieyn

C. seflairot Acyn D guet 98l dR
Carburettor is used to supply

A. Diesel and air mixture B.  Petrol and air mixture

C. Diesel only D.  Petrol only

slo]ReRq] 9 A sRal AU B?

Al ua sall of RsIRL B. 22t Aol scll of M3l
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47.

¥9.

48.

¥C.

49,

¥C.

50.

Yo.

51.

uq.

52.

UR.

53.

us3.

54.

C. gsaslaa D.  gs5dQalct
According to IBR, which one should be fitted to the boiler?

A. Economiser B.  Air preheater
C.  Super heater D. Safety valve
IBR YHIQ (SR UR ¢f (32 scui aua 82
A gElalllosR B, R:[08le?
C. yur dle? D agdl auea
Prime movers is a device which converts natural resources into energy.
A.  Electrical B.  Mechanical
C. Kinetic D. Thermal
YISH Yo A A AU B 3 B el VA of Gl Hi 3UiR R ©.
A gasilsa B 1l3o{lsct
C. sgaRs D. aulet
Gauge pressure is measured with respect to
A.  Absolute zero pressure B.  Atmospheric pressure
C.  Vacuum pressure D. All of these
AXYAR oll afRUlot HI HIUAHL A &
A Qodlge AR QuR B- R21ladlRs Y
C. Asyu YR D et vt o
is not the unit of pressure.

A. Pascal B. Bar
C. N/s? D. N/m?

YAR oll AsH alell
A ursa B aR
C. N/s? D. N/m?
Barometer is used to measure
A. Pressure B.  Temperature
C. Electrical energy D. Force
A2 9 Hual M2 duRlAU B?
A eyl B ctumiet
C.  gasdlsct Gt D wa
Which of the following pump is successfully used for lifting water to the turbines?
A.  Centrifugal pump B.  Reciprocating pump
C. Jetpump D. Airlift pump
o{lAstiiiell s U usnclyds 2elgot Yell wgll uslusal auia 8?
A Aclsralauu B 2luddlol uu
C. Ry D. A2 @se uu
A machine used to raise the pressure of air is called
A. Turbine B.  Compressor
C. Boliler D. Engine
&cllo] EGURL dURAl AURLAL AR 5& 8?
A eullget B sudaR
C. QR D. Qoo

The mercury does not wet the glass. This is due to the property of the liquid known as
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uy.

55.

uy,

56.

us.

S7.

vo.

58.

uc.

59.

uce.

60.

SO.

61.

URL st ellovadl atell, 5120 & yatglall ojatud & B 56 B

The activity of transporting any material from one place to another is known as

Adhesion
Surface tension

A Ao cll
Yol

Ideal fluid
Non-Newtonian fluid

UG SAA
ollot- ofelfel2lot

Ideal
Non- Newtonian

UG SIAA
ollot- o2j2l(A2et

N/m?
N-m

ojeat /.2
oj2ot-Hl.

Gauge pressure
Mean pressure

ey €040
Hlot g0

Mass density
None of these

HA ot
sleuel o8l

Material handling
Movement

slouel HilRac ol As Ul ol ol Yl &% scllell yugdlal 95582

HelRaue 8scllat
Yade

Short distance

A. Cohesion B.

C.  Viscosity D.

A. S13cot B.

C. Rellouicu D.

A fluid having no viscosity is known as

A. Real fluid B.

C. Newtonian fluid D.
yalgl ¥ Boll Raldudl ot 8l Aol 9 ecunl wa B?
A Saa B

C. jelollatst D.
Water is a fluid

A. Real B.

C. Newtonian D.
well 4SS O

A Hlua

C. Rjeteflatet D.
The unit of surface tension is

A. N/m B.

C. N/md D.
UFAU 2o2ot oll AUsH 520 ©?

A et/ B.

C eat/ill D.
The pressure measured with help of a pressure gauge is called
A.  Atmospheric pressure B.

C.  Absolute pressure D.
YAl MUl el EWIRL A $3) EGUIRL 55 B?
A aldiargla eougl B.

C. dydl ecun D.
The weight per unit volume of a liquid is called
A.  Specific gravity B.

C. Specific weight D.
Yalglotl coget Yld AsH s€ o 9 ecltl wd B?
A s Yotell B.

C. Assu ayel D.

A.  Transportation B.

C. Loading D.

A QiR B.

C. Qs D.
Belt conveyer is used to transfer material for
A. Long distance B.

C. BothAandB D.

None of these
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Sq.

62.

SR.

63.

G3.

64.

S¥.

65.

SU.

66.

SS.

67.

SO.

68.

SC.

HAJlaAAA 82%2 s2cl Ace $0A0R HERCURUR

A il AR B. 251 3l

C. waAuaB D glgug 8l

Which of the following is a earth moving machinery?

A. Elevator B.  Fork lift

C.  Screw conveyor D. Tractor

o(lAotl Hiell 53] uel Ycllormllaer?

A Adlae? B. 45 @se

C. g sedaR D. 3se2

Following of which equipment is used to transfer material in vertical direction?
A. Bucket elevator B.  Belt conveyor

C.  Screw conveyor D.  Chain conveyor

(Aol saul Alotoll GUAIGE (BaUHL GlRagel sall cURNA ©?
A odeadlae? B. Qe sedarR

C. 3§ soldaR D Aot set@aR

Following of which is the important factor for selection of material handling?
A. Type of load B. Cost

C.  Operator D. All of these

ol Aottiell g3 uleaudlrae &scllol ofl uieall 2 Hewcs] dQua 82
A alRdgetell YsIR B wa

C.o ude D. i e¥s

Which of the following is not a hoisting equipment

A.  Fork lift B. Lift

C. Crane D.  Chain pulley block

(LAt ells2) Sleelol Utstaiell?

A8 Qs B Qs

C. 3t D. 3ot ycll ocls

Material handling equipment are used to transfer material in direction
A. Vertical B.  Horizontal

C.  Vertical and horizontal D. Al
WARaEsAItA Ul HRRAUAS] (8 2UuHi &UNIAR 53 B
A @ell B a8l

C. @ell Aol 2usl D. g¥s

Fuel injector is used for

A. S.lengine B. C.lengine

C. Gasengine D. None of these

RJUA BoB52 Hl duRlA 8?

A s 1Al B ¢l Aepet

C. 3 WAoot D gguel o8l

Neutral flame is used to weld

A.  Steel B. Castiron

C. Copper D. All of these

oA $AH o AcsloL M2 duRA B
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69.

Sc.

70.

90.

A WA B.  size ol

C. sIUR D. WA oLl
Acetylene gas is stored in cylinders in

A. Solid form B.  Gaseous form
C. Liquid form D. All of these
A Alot ANtoll dots Al Alos? Hi sl A3V scUHL wWA B?
Ayt B ay

C. yadl D e s
The washer is generally specified by its

A.  Outer diameter B. Hole diameter
C.  Thickness D. Mean diameter
Al2R AHLAZA Aol JlAnu B?

A olal cal B. Qetell cut
C. oaes D 3lot cau

kkhkhkhkhkhhkhkkhkkk
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